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General Instructions to the Candidate :

1. This question paper consists of 38 questions.
2. Follow the instructions given against the questions.
3. Figures in the right hand margin indicate maximum marks for the

questions.
4. The maximum time to answer the paper is given at the top of the

question paper. It includes 15 minutes for reading the question paper.
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2
questions /

Four alternatives are given for each of the following

I.
incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 8x1=8

1. The maximum number of zeroes of a quadratic polynomial is

(A) 4 B) 1
() 2 (D) 3
2. The volume of a sphere of radius r’ units is
(A) -\,23- nr3 cubic units
4 3 1 .
(B) 3T cubic units
3 3 . X
(C) TRl cubic units
3 3 . "
(D) i cubic units
3. If the nature of the roots of the quadratic equation

ax? + bx+ c=0 is real and distinct’ then

(A) a? —4bc>0 (B) b% ~4ac=0

(C) a?-4bc=0 (D) b?% -4ac>0
4, If secA= = , then the value of cos A is
J3

(A) (B) %
(©) D) %

It olty

KPPL-5031

[PPT-1022

(¥ scanned with OKEN Scanner



3 KPPL-5031

S. In
l]l ' + & 4
¢ .\nlhnu'm- progression x, 21, 18, ... the value of x"18
(A) 9
) 24 m) 23
0. X+ N
<y €, and 2x + 4y = c, are pair of linear equations. If
2c
1 ¥ €, then the equations have
A
o
(A .
) one solution (B) two solutions g
w
-
(C)

Infinite solutions (D) no solution

7. The Prime factors of 91 are
2,18, 7 (B) 13,7
(C) 91,1 (D) 13,7,1
8. In the given figure, OP | AB. The length of ABis
o)
g
o
™
% U v
(A) 8cm (B) 6cm .
(C) 7cm (D) Scm
PPT-1022 KPPL-5031
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1. A
Answer the fnllnwing queations : RED T

] -
¢ L.CM. of )

MNd 36 is 72, then find their H.C.F.

10,

Find .
d the roots of the equation : (x-1 J(x+3)=0

L. Write th
c
formula to find the volume of the frustum of a cone

having its cir ar b
ircul radii r r
ase radii | and 5 and height ‘h’.

P rsAacs.es 8 IRl

12, Find
the sum of zerpes of the quadratic polynomial

P(x)=x2+7x+ 10

13. | ‘
In the figure, | POR = 90°, then find the value of ::; 1;? '

P

14. A square based prism die whose each rectangular faces are
numbered 1, 3, 4 and 6 is rolled once. Find the probability of

getting number 2 on its top face.

PPT-1022 KPPL-5031
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15. AABc. , P
OR. 1t the areq of A ABC
PQ

16. If Sin ( go°

in 499 em?2. AB = 7 cm and
T Cm ¢t
hen find the area of A PQR

value of 4

-— A = o
,' cos GO ' whcrc A is an acut ey ;
(1I. Answer the following questions

17. PI‘OVe that 7 &

8 % 2 = 16
J5 is an irrational number.

Le0s-1ddM

18. Find the roots of the equation 3x2 - 6x + 2 = 0 using ‘quadratic
formula’.

19. Solve the following pair of linear equations by Elimination
method :

4x+y = 185

x+y =06

20. Find the su.rn of first 20 terms of the Arithmetic progression

using formula.

-OR

Find the sum of the fir

st 40 positive integers divisible by 6.
- - - . t
91. Find the coordinates of the point which divides the line segmen
. ~Fin
] io 2 : 3.
joining the points ( 1, 5)and (-4, 0 ) in the ratio

PPT-1022
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22. If PlA)= 3 then, show thal i
a4 '
adius 35 cm whi
- je of radius Yl
23. Drae (4 1O the cirele Are
L. aw a pair ol tangentd
70°.

l(_’ n‘f

mclined to each other at AN ank o

cos 45° - ain 45

24. Find the value of : . 30° - cot 60"

sec
OR
: A.
1+sind _ 2sec
Prove that ﬂs._:_'i__ -_—_;T
1+sin A o
9 x 3= 27

IV. Answer the following questions :

2
Z)=X"=2x+3
. D"Videp(x)=3x3+4x2-11x+35 by 9 ( ang

[r(x)]

inder
find the quotient [ g ( x) ] and remail

OR

Find a quadratic polynomial, Whose sum and product of it

zeroes are — 3 and 2 respectively and also find the zeroes of thig

polynomial.
26. Prove that “The lengths of tangents drawn from an external point

to a circle are equal’.

27. Construct a triangle ABC with sides AC = 8 cm, AB = 5 cm and

BC = 6'5 cm. Then construct a triangle whose sides are % of the

corresponding sides of the triangle ABC.

PPT-1022 KPPL-5031
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28. Find tl ‘
1€ mean for the following data by direct method
Class-interval Frequency
2-6 4
6-10 8
3
b
2
10-14 2 't;
=
w
-l
14-18 1
\ 18 - 22 5
OR
Find the mode for the following data :
Class-interval Frequency J

5-15 4

15-25 8

25 -35 2

35-45 5

45 - 55 1
PPT-1022 KPPL-5031 [ Turn over
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29 A production yield per hectare of wheat of 75 (arms ufl a village .
given in the following data. Draw n_‘E“l_ril;ti '1‘”_'3__‘2’@_:}@____
Production yield | Number of farms
(in kg/ha ) (cmnulariue frequency )
50 or more than 50 75
55 or more than 55 70
60 or more than 60 65
6S or more than 65 54
70 or more than 70 40
75 or more than 75 25
80 or more than 80 12

30. Find the area of a triangle whose vertices are A (=, =1
B(3, -5)and C(5, 2).
OR
The vertices of a squareare A (-1, -2 ), B(1, 0), C(-1, 2)
and D (-3, 0). ACand BD diagonals intersect at a point 0’ é.s
shown in the figure. Find the length of diagonals and the

coordinates of point of intersection of the diagonals.

A B
0
D C
KPPL-5031 el
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31,

In the £ -
he NRUTe, ABC in an equilateral trinngle w ith sie

lea ! 1 rm fl:]‘ll
ATea 40 .
area 49 /3 CIT

" Y o
PO and R are the mid-points of the sides of th
“'i.‘\ng]l-.

If PQ, QR and RP are the arcs of a circle with centres B,

-~ ) " l‘
“and A respectively, then find the arca of the shaded region anc

its perimeter. | Take 3 = 17 |

]
)
b
in
A g
P R
B o &

32. A motor boat whose speed is 11 km/hour in still water takes
2 hours 45 minutes to go 12 km upstream then to return

downstream to the same spot. Find the speed of the stream.
OR

The sum of the reciprocals of ages of a person ( in years ) 3 years

L i sent age.
ago and 5 years from now is - Find his pre g

[ Turn over
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33, - N N w BB )
N the given ﬁ}:lll't‘.‘ BC || PO, AD 5 cm, PQ = 2 .

M,
N
AP = _‘15 cm. !‘“I-Ulfl .”".. k_‘ng[h nf JBC AISU‘
Prove thay Areaof AAPQ _ 1
Areaof AABC 4°
B
) Q 4
V.  Answer the following questions : 4x4=16
34. i i i
An Arithmetic progression consists of 51 terms. The 20th terp,
from the last term of this progression is 157. If the commop
difference is 5, then find the Arithmetic progression.
OR
The sum of 2nd and 4th terms of an Arithmetic progression is 22
and the sum of first 11 terms is 253. Find the Arithmetic
progression. If the last term of it is 67, then find the number of
terms of this progression.
[PPT-1022 | KPPL-5031

(¥ scanned with OKEN Scanner



- KPPL-5031 81-E
35. Fing the solyut;
Ang Solution of the given pair of linear equations by
Braphicpa] method.
2x 4

VW = 8

X 4 34’ -

)
36.  Prove that

then

ul ] . .
Fin two triangles, corresponding angles are equal,

thei - : : : i
' cOrresponding sides are in the same ratio | or

o .
Proportion ] and hence the two triangles are similar”.
37. The lighthouse [ AB] of height 1043 m stands vertically on a sea

shore. A tower [ CE] and a ship [ F] are standing 30 m and 10 m
away from the foot of the lighthouse respectively. The angle of
elevation of the top of the tower from the top of the lighthouse is
30°. Find the height of the tower and distance between the top of
the lighthouse to the top of the tower [ AE |. Also find the angle of

depression formed from the top of the lighthouse to the ship.

E

v

30
AT D

10+/3 m

B<10m—=>F

C
. —>» 30m <

e

L8031 | Turn over
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vi. Answer the following question :

38.

PL-5031
12 we

1xS=g
A wooden solid is made by mounting a right circular cone on 5
circular base of a cylinder as shown in the figure. If the height of
the solid is 45 cm, height of the cone is 15 cm and diameter of

the circular base of cylinder is 16 cm, then find the total surface

area and volume of the wooden solid.

A Tn

15 cm

45 cm

(¥ scanned with OKEN Scanner
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General instructions to the candidate;

1. One this question paper consists of objective and subjective types of 38 questions.

2. Follow the instructions given against both the objective and subjective types of questions
questions.

3. Figures in the right hand margin indicate maximum marks for the questions.

4. The maximum time to answer the paper is given at the top of the question paper. It includes 15
minutes for reading the question paper.

) Four alternatives are given for each of the following questions/incomplete statements. Choose the

correct alternative and write the complete answer with its letter of alphabet. 8x1=8
1.If 10,x,18 are in Arithmetic progression , then the value of X’ is
A) 12 B) 13 C) 14 D) 16
2. The Highest Common Factor of 3and 5 is
A)1 B)3 C)5 D) 15
3. The discriminant of quadratic equation ax? + bx + ¢ = 0
A) a? — 4bc B) b? — 4ac C) a* + 4bc D) b? + 4ac
4, The value of s o) is ) _
cosf
A) 0 B)1 c)2 D) %
5. The coordinates of the midpoint of the line segment joining the points P(4,7) and Q(10,3) are
A) (14,10) B) (5,7) C) (3,-5) D) (7,5)
6. The equation of line which is parallel to the line represented by the equation 4x — 8y = 11is ;
A) 4x — 16y = 22 B)2x+4y =6 C)8x— 16y =21 D)8x+ 16y = 22
7. In the figure AABC~APQR, then the correct relation among the followingis
Area of AABC _ BC? Area of AABC _ AB?
o s of APQR _ QRZ e of APQR _ PN? £
) drea of AABC _ BG? DA Les o tdnia QR? ﬁ
Area of APQR QNZ Area of APQR  BC?
8. The curved surface area of a solid hemisphere of radius ‘r’ unitsis ! e { "
A) 4mr? sq units B) 3mr?squnits C) mr? sq units D) 2mr? sq units '
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1) Answer the following questions
9. State the whether the rational number :—: has terminating decimal expansion or

non -terminating recurring decimal expansion.
10 The graph of y = p(x) is given below Write the number of zeroes of plx).
11. A ladder is placed against a wall such that its foot (s at a distance of 2.5m
from the wall and its inclined at an angle of 60” with the ground. Find the
length of ladder. A
.\‘
12. Write the formula to find the area of trlangle whose vertices are (x5, ¥1) b

(x,¥;) and (xy, y,)

L
X,

b

A

13. For any event €, if P(E)= 0.7, then find P(E) .

14. If tan® = 1 find the value of sec? @.

15.In the figure, AB is a tangent to a circle with centre ‘0", ‘P’ is the point of contact. If
LOAP = 50°, then find £AOP.
16. Write the formula to find the total surface area of a cylinder of radius ‘" and height ‘h".

I1l) Answer the following questions 8x2=16

17. Prove that 3 + /2 is an irrational number.
OR
The HCF and LCM of two numbers are 3 and 60 respectively. If one of the numbers is 12, then find
other number.
18. Solve the given pair of linear equations : 2x —y =4 and x+y =11
19. If the lines represented by the pair of linear equations, 2x +3y —8 =0 andax + by — 16 =0
are coincident then find the values of ‘a’ and ‘b’
20. Find 26'™ term of the Arithmetic progression 3,7,11,.... Using formula
21. Find the roots of the quadratic equation 3x% — 5x + 2 = 0 using quadratic formula.
OR
Find the roots of the quadratic equation x? — 5x + 6 = 0 by the method of square completion

method.

22. In the given figure, AABC is a right angled triangle. Find the value of

the following: i) sina ii) tanf
23. A box contains 20 cards, which are numbered 1 to 20. If one card is drawn at random from the

box, then find the probability of getting a perfect cube number.
24. Construct a pair of tangents to a circle of radius 3 cm, which are

inclined at an angle of 60°.
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3
|V) Answer the following questions 9x3 =27

25. A student prepares a model of atomic structure that consist of four concentric
circular rings. The length of circumference of these tings are in Arithmetic
progression. The sum of the circumference of first three rings Is 66 cm and the
circumference of the fourth ring is 44 cm. Find the circumference of the third
ring using formula.
OR }
The sum of first four terms of an Arithmetic Progression is 38 and the sum of first seven term
is 98. Find the first term and common difference of the Arithmetic progression.
26. Divide p(x) = x* = 3x% 4 3x — 5 by g(x) = x% — x + 1 and find the quotient q(x) and the
reminderr(x).

OR
Find the zeroes of the quadratic polynomial p(x) = x? — 2x — 8 and verify the relationship
between the zeroes and coefficients,

27. Find the coordinates of the point ‘P* on axis,which is equidistant from the points A(2,-5) and B(-2,9)

OR
Find the coordinates of the point ‘P’ which divides the line joining the points A(-2,-2) and B(5,12) in
the ratio 3:4
28. Find the arithmetic mean for the following grouped data
Class interval Frequency
0-2 2
2-4 6
4-6 8
6-8 3
8-10 1
OR

Find the mode for the following

Class interval Frequency
0-6 2

6-12 9

12-18 15

18-24 5

24-30 ;|

29. During the medical check up of 60 studentsof a class, their weights were recorded as follows. Draw
‘less than type ‘ Ogive for the given data.

Weight (in kg) | Number of stufentd(cumulative frequency)
Less than 45 5

Less than 50 12

Less than 55 30

Less than 60 50

Less than 65 58

Less than 70 60
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General Instructions to the Candidate :

1. This Question Paper consists of objective and subjective types of
38 questions.
2. Follow the instructions given against both the objective and subjective
types of questions. |
3. Figurés in the right hand margin indicate maximum marks for the
_ questions.
4. The maximum time to answer the paper is given at the top of the question

paper, It includes 15 minutes for reading the guestion paper.
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I Four alternatives are given for each of the following questions /

incomplete statements, Choose the correct alternative and write the

coiiiplete answer along with its letter of alphabet. 8x1=8

L.

A pair of linear equations ax+by+c =0 and a,x+by+c,=0

have unique solution. Then the correct relation among the

following is

(A) el - _b_l_
a, b
: by by ¢
a b
© =t
a, )
a b c
O] =k —
ay 2 S

The formula to find the sum of first n’ terms of positive odd
numbers is
B S =n{n+l} B S, n(n-1)

(C) S =n° ’ (D) S =n?.

n n

The quadratic equation in the following is
(A x?-3x+2 =0 (B) 2x+3 =0
(¢ x?-5x+6 D) 2x% +7x+1= 0.

If A=30° then the value of sin 24 is

1 J3
A —_ =
w7 B) 3

© 1 | o 5

PPT-120
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The distance of the co—ordinates.{ 3, 4) from the x-axis is
_{A) 3 units | (B) 4 units
{C) 5 units .(D) 7 units,

The x-coordinate of the point of intersection of “less than and more

than” types of ogive gives it

(A]- Standard deviation (R} Mode

(C) Mean ' @ Median.

AADE ~ A ABC, if AD =1 cm and AB = 2 cm then the avea of

A ABC . area of A ADE is

(5}"' 4:1 : B 1:4
C 1:2 ) 21

The formula tec find the lateral surface area of a frustum of a cone

whose circular ends having radii r and r, and slant height

1 2
! units is
{A) =m(r,-r,)! squnits (B) nr sq.units
(C} af(r, + T, }.I sq.units _[D),/ n{r, +r,}h squnits

PPT-120 : [ Turn over

UseE-Papers, Save Tress
Above line hide when print out


www.inyatrust.com
www.inyatrust.com

81-E ' 4

II. Answer the following questions : 8x1=8

/9{ Write the number of solutions that the pair of linear equations

a}x+bly+c1_=0 and a,x +by+c, =0 have (e, = c,)

10.  The 17th term of an Arithmetic prdgression exceeds its 10th term

by 7. Write the commen difference of this progression.

11. If sin A = % write the value of cosec A.

}/Wr‘ite the coordinates of the mid-point of the line segment joining the

points A ( x;, 4) and B(x,, y,).

/1/3./ State “Basic proportionality theorem”.

14. If the diameter of a circle is 7 cm then write the length of its semi-

circular arc.

€« 7 CIM ——y
A B

?

15, Write the formula to find the surface area of a sphere whose radius

3

is ' units.

16.  Find the length of the side of a cube whose volume is 64 cm°.

PPT-120 -
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Answer the following questions : ' 8x2=16

17,

Solve the following pair of linear equations by Elimination method :

2x+y = 14

It
-5

X =Yy

OR

“The difference between twao positive numbers is 26 and one number

is 3 times the other.” Represent this statement in the form of the

- pair of linear equations.

21.

Find the 15th term of the Arithmetic orogression 3005, 13, ... .

Find the sum of ﬁrlst 20 terms of the Arithmetic series 24+ 7 + 12 +

using the formula,
Find the value of the .discriminant of the equation 3x? - 5x+ 2 =
and hénce write the nature of the roots. |

OR
Find, for what value of %’ the equatién kx? 4+ 6x+3 =0 has equal
roots.

Find the roots of the quadratic equation 2x° + i+ - 4 = using

quadratic formula.

i S —

PPT 120 [ Turn over
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22,

0

In the figure fird the valve cf sin P and tan R.
R

.

Q V3 P

25 Find the distance between the points (2, 3 ) and (6, 6) using the

distance formula.

/24(/ Draw a line segment of length 8 cm and divide it in the ratio 2 : 3

geometrically.

IV. Answer the following questions : 9x3=27
25. Find the sum of all the multiples of 4 between 10 and 250.
26. If A+ B=90° prove that

cos A . l+cos B _ 2
l+cos B cos A  Cos A’
OR
| 5 cos2 60° + 4 sec2 30° — tan?45° 67
Prove that 2 - = —
- sin? 30° + cos? 30° 12
27.

Find the value of % if the points. A (7, -2 ), B(5, 1)and
C (3, k) are collinear. |

OR

-

~Find the coordinates of the point which divides the line segment

joining the points (4, - 3)and (8, 5) in the ratio 3 : 1 internally.

PPT-120
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28.

Find the mean of the following data using direct method :

Class-interval Freq;uency
0—10 5
10—20 8
20 — 30 20
30 — 40 15
40 — 50 7

OR

Find the mode of the following data :

Class-interval Frequency
1—4 7
4—7 4

7—10 8

10 — 13 6

13— 16 4
PPT-120
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29. The following table gives production yield of wheat per hectare of

100 farms in a village. Draw a “less than type ogive” for the given

- data:
Production yield Number of farms
{in kg / hectare } { cumulative frequency )
Less thaﬁ 50 2
Less than 55 | 10
Less than 60 22
Less than 65 46
Less than 70 ' 74
Less than 75 100

307 Prove that “the lengths of tangents drawn from an external point to a

circle are equal”.

/}l’. Draw a pair of tangents to a circle of radius 3 em which are inclined

to each other at angle of 70°.

PPT-120
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32.

81-E

In a circle of radius 21 cm an arc AC subtends an angle 60° at the

centre as shown in the figure then find
i) the length of the arc AC

i} area of the sector OAC.

OR

ABCD is a squaie of side 14 cm. P, Q, K and S are the'mid—points of

AB, BC, - CD and AD respectively. Also PS, PQ, OR and SR are the

arcs of the circles. Find the area of the shaded region.

PPT-120
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33 A tent is in the shape of a cylinder surrounded by a conical top as
shown in the figure. The height and radius of the cylindrical part are
2'1 m and 2 m respectively. Also slant height of the cone is 28 m.

Find the area of the canvas used for making the tent.

---------
_______
- LI

V. Answer the following questions : : 4x4=16

34  TFind the solution of the given pair of linear equations by graphical

- method :
x+y=95
2x-y= 4

35. An express train takes 1 hour less than a passenger train to travel
132 km between two towns A and B. If the average speed of the
express train is 11 km/hr more than that of a passenger train, find

the average speed of these trains.

OR

PF?-120 |
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Find the roots of the following equation :

1 1 11
T 4 -7 " 30 (x = -4 and x=7)

A building on th¢ ground is in the form of a conical tomb
surmounted by a cylinder of height 10 feet as s_ﬁown in the figure.
From a point .‘P’ on the same ground the angle of elevation of the top
edge of the cylinder is found to be 30° and the angle of elevation to
the vertex of the cone is found to he 45°. If the diameter of the outer
edge of circular base of the cylinder is 9-4 feet, then find thé height of
the conical shaped tomb.

(Take 3 =173}

A

D
€« 04 ft —>
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/I/."" In the following questions four alternatives are given for each question.

Choose and write the correct answer along with its alphabet. 8x1=8

1. If 180 = 2%X x32 x5 then the value of x is
@A) 1 B) 2

© 3 - o 4.

PPT-010 ' [ Turn over

Use E-Papers, Save Trees


www.inyatrust.com
www.inyatrust.com

81.E | 2
2. " In the figure a polynomial y = p { x} is represented through a graph, the

number of zeroes of the polynomial is
Yy

&

\ | /N

X.' «+ -
\O_/ \
\j
y!
(A} 4 B) 2
< 3 D) 1.
3.  The roots of the'quadratic equation xZ +bx+c =0 are
el e Jo7 vac
{A) B) ———
2 2
~b b2 +4c b b2 - 4c
(€} 3 D) — -

4, If sin9 = -g— then the value of cosec 8 is
(A) (B} .

(D)

o wlw
2l n|w

(C)

PPT-010
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3. ' 81-E
The probability of a certain event is
A © B) 05
(Ct 075 (D) 1.
The corrésponding sides of ‘_cwo similar triangles are in the ratio 1 :.4, then
the ratios of their areas is
(A) 1:2 | (B) 1:16
€ 1:4 D) 16: 1.

The area of the sector which is %th the area of circle of radius r unit is

_ 2 2

{A) gg 5 sq.unit : (B} % square unit
2 2

(C) n; sq.unit (D) %» square unit.

A cone is mounted on a hemisphere of radius r cm and height of the cone

h cm. Then the volume of the solid is

(A)

(€)
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II. Answer the following Questions P ' 8x1=8§

4x+py+8=0

D

4x+4y+2=0

are parallel to each other then find the value of p.

~10'." In an A.P. a, = 3n + 2 then find 12th term.

11. Find the sum of the zeroes of a polynomial P(x)= 2x2 - 9x +10.

sin 28°

12. Find the value of .
‘ cos 62°

13. Ina A ABC, AB . BC, | ACB = 30°, AB =15 m, then find the length of
BC.
A

PPT-010
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5 81-E
14. In figure, DE || BC, AE=3 cm, CE =6 cm, AD =4 cm, then find the

length of AB.

B

15. Write the number of tangent that can be drawn to a circle at any point on

it.
1{_6. Write the formula to find the total surface area of a frustum of a cone.

11, Answér the following questions : 8x2=16
A7. Solve the following pair of linear equations :
3x+ 2y = 11
Sx-2y = 13.
18.° Find the sum of first 20 terms of A.P. 3,7, 11, 15 .... using the formula.
l‘)l.ﬁl Find the discriminant of the quadratic equation 2x2 + x +4=0, hence
find the nature of its roots.
20 Find the distance between the points A ( .8, 3)and B{ 2, 11} by using
distance formula.

2%, A box contains 28 bulbs of which 7 bulbs are defective, a bulb is drawn
randomly from the box. Find the probability of picking a non-defective
bulb.

PPT-010 - [ Turn over
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22. Dis a point on the side BC of a triangle ABC such that ZADC = £ BAC.
Show that CA2 =CB.CD.
A

OR

In a trapezium ABCD, AB || CD, AC and BD diagonals are intersect at O.

Prove that AQ . OD= BO . OC.

23. Draw a pair of tangents of a circle of radius 4 cm such that the angle

between the tangents is 70°.

24. In the figure two congruent circles touch each other externally and also
touches the sides of the rectangle ABCD. If AB =28 cm and BC = 14 cm, .

find the area of the shaded region.

C

OR
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A right angled triangle of sides containing right angle are 6 cm and 8 cm 18
circumscribed in a circle with centre O of radius 5 cm as shown in the

figure. Find the area of the shaded region.

IV. Answer the following questions : 9 x3=27

25. Prove that J§ is an irrational number,

OR

Find the HCF of 135 and 75 by the prime factorisation, hence find the LCM.

and HCF of ( 135, 75} and 20.
26. If two zeroes of the polynomial P( x ) = x3 +2x2 - 9x-18 are 3 and - 3,
find other zero of the polynolmial, P(x}.
| OR.
On dividing P(x) = 3x° +x% +2x+5 by a polynomial g { x), the quotient
and remainder obtained are ( 3x~ 5 ) and ( 9x + 10 ) respectivgly. Find

g{x}.
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28.

29.

8
cos 8 sin _
Prove that + =sin 0 + cos O,
l-tan® 1-cotH
OR’
- 1+coso sin §
Prove that - - =2 cot 8.
; sing 1+cosb

A man observes two vertical poles which are fixed opposite to each other on
either side of the road. If the width of the road is 90 feet and heights of the

pole are in the ratio 1 : 2, also the angle of elevation of their tops from a

point between the line joining the foot of the poles on the road is 60°. Find

.the heights of the poles.

If A(0,5}), B(6,11)and C(10,7) are the vertices of a A ABC, Dand E

St >, ] : }
!.' ;7,- ? l';‘_ u‘t L

are the mid-points of ABand AC resp;cﬂvely. Then find the area of A ADE.

OR

A(5, 8), B(0, —1)and C (4, 5) are the vertices of a A ABC. AD is
the median and G is a point on AD such that AG : GD =2 : 1. Find the

co-ordinate of the point G.

PPT-010
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) 30. Find the median of the following data :

C-l: 50-60 | 60-70 70 - 8D 80 - 90 90 - 100

|
|
iR 2 14 }%L{_Bl\&)

31, The following distribution gives the daily income of 50 workers of a factory.

//'

Draw its more than type ogive.

| Daily income in .
- 100-120 | 120-140 | 140-160 160-180 | 180-200
rupees

Number of workers 5 10 20 5 10 |

»

32 Prove that the tangents drawn to a circle from an external point are equal.

33. Drawa ti'iangle with sides 4 cm, 6 cm, 8 cm and then construct an another

triangle whose sides are % times the corresponding sides of the first
triangle.
V. Answer the following questions : | ' - 4x4=16

/"A./ The first term of two AP.s are eqﬁal and the ratios of their common
differences is 1 : 2. If the 7th term of first AP. and 2Ith term of

second A.P. are 23 and 125 respectively, Find two A.P.s.
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81-E 10
35.  Sanvi purchased some books for Rs. 120. If she pﬁrchésed 3 more books
for the same amount each book would have cost her ﬁs. 2 less. Find the
number of books purchased by Sanvi and the price of each book.
OR
A motor boat goes down the stream 30 km and again returns to the
starting point in a total time of 4 hours and 30 minutes. If ‘the speed of the
stream is 5 km/hr, then find the speed of the motor boat in still wéter_.
o
/ 36 'Prove that “In a right angled triangle the square of the hypotenuse is equal
to the sum of the squares of .the ot.her two sides”. ' / \
3}}'!;’( Solve the following pair of linear equations graphically : S
. 2;c+ y=2>5
x+y = 4,
VI. Answer the following question : 1x5=35
38. A Social Welfare_ Association decides to supply drinking water for the ﬂood.

affected people. The drinking water is filled in a water tanker which is in

the shape of a cylinder with hemispherical end as shown in the figure. The

- whole length of the tanker is 42 metre and the diameter of base of the

PPT-010
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cylinder and two hemispheres are each 12 m. If they distribute drinking
water to 60 people in a cdntainer, each is in the shape of a cylinder of

radius 21 cm and height 50 cm, find the quantity of water left in the tanker

after distribuﬁon in litre. (n = 2—72 }

)
B

.
-
e e e e e i e v

—» 1:2 m

"
et e o et
e Pt e iy
s -
el .

™
L~

k

4-2m <
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I1.

X STANDARD STATE LEVEL PREPARATORY EXAMINATION-FEBRUARY - 2019
Time : 2.45 min. SUBJECT : MATHEMATICS Marks : 80

1. Four atternatives are given for each of the following questions/incomplete
statements. Choose the correct alternative and write the complete answer

~ along with its letter of alphabet. _ 1x8=8
1. Area of a sector of angle p (in degrees) of a circle with radius v is,
A __E__ 2 ay _L '.,.) . P 2 . D -
A) 530 % 27t B) '36()':\ 2T ) 750 Tl',.l D) %0 * 2781

2. The distance of a point p (x, ¥) from the origin O (0, 0) is miven by
A Valy? B) Viley” ) Vaxy: DV

3. H.C.F of 95 and 152 is | .
Ay 57 B) 38 C) 19 D) &

4, The Quadratic Polynomial having zerocs ~2 and 4 is |
A) x? + 2048 B) x2-2x-8 C) 2+2x-8 D) a7-2x48
5. 1f 2=2x+1=0 then x+ = is equal
AL By 3 . ¢y 2 D) 4
6. The value of Sin?60° - Sin*30° is
' " 3 .
A -3 ol ¢y 7 D) %
7. ME) + P(E) is equal to '
A) 1 B) 2 | SO0 D)3
8. LSA of a cylinder whose circumference is 44 cm and height 10¢m is,
A) 120em? B) 440cm? C) Hoem? D) 220cm?
- 1x6=06

9. In the ligure. find the length ol the tangent CD

i AP=3cm and PC=8cm.

L0, Write the decimal expansion of the Rational Number —:;?—) without actual division.

'KSSSHMS & CPUCPA-2, Mathematics - 2019 | L
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I1. Find the Quadratic Polynomial the sum and product of whose Zeroes are.—3 and 2
- respectively.

12, Inthe frivcn fig.
- Sin A== find cos A.

Fmd thL mum of the following dutd
7.6.5.0.7.8.9

b Write the formula used 1o find the surface area of the sphere.
L. | 2x16=32

150 Find avithmetio Progression whose third term 1s 16 and the seventil term exceeds
the Ath term hy |2

16. Tn the civen figure DE || AC

sove that BE _ BE
Prove that FE S EC
OR
In [ln, given flouu, AABC and AAMP are two right
lnanolu right angled at B and M respectively. B
Prove that D AABCIIAAMP i) A C‘ al - e /
. A B P

17, S()lve :2x+3y = 11
2x—dy=—24.
[8. The difference between two numbers is 26 and one number is three times the other.
Find the numbers. _
19, Check whether (5, =2), (6, 4) and (7, =2) are the vertices of an Isosceles triangle,
OR

Find the dlc‘d of the tnangle ABC whose vertices are A (2, 3), B (-1. 0y and
C(2, —4).

20. Show that 53— V3 is Trrational nwnber,

21. Divide the Polynomial P(O)=a*=3x24+4x45 by the Polynomial g(x)= x2=x+1 and
find the quotient and the remainder.

22, Find the Zeroes of the Quadratic polynomial x- +7t+10 and verify the relationship

between the zeroes and the cocfficients,

23, Solve by using the formula. 212~7v+3 v-(}
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24. The following data gives the information on the observed life times (in hours) of 225
clectrical components, Find the modal life time of the componcnts. (Find the Mode)
Life time 0-20 20-40 40-60 60-80 g0-100 | (00-120

{in hours)

2 6l 3R 29

% 4]

Frequency (O 35

. A drinking glass vessel is in the shape of frustum of a cone of height I4cm: The
diameters of its two circular ends are 4cm and 2cm. Find the capacity of the glass

vessel.

]
h

26. A die is thrown twice. What is the probability that
) 5 will not come up etther time ?
iy 5 will come up at least once ?

27. Construct a pair of tangents to a circle of radius 4em. W hich are inclined to each
other at an angle of 60°. Measure the fength of tangent and write.

28. In the given figure, BC is diameter. [f AB = 3em, AC=dem and [A=90°
Find the area of the shaded region. (T=3.14) M

29 Find the cordinates of the points of trisection (Points dividing in three equal parts)
of the line segments joining the points A(1, -2} and B(~3, —4). :

30. In the given figure A ABC | A DEF Arca of A 5
Ale ABC = 121cm? and area of Al® DEF = 64cm? .
If the meidan of the A ABC is [2.1cm.
Then find the median of the A DEE. LT E N T
IV, _ _ 3x6=18
21, The lengths of tangents drawn from an external point to a circle are equal. PROV E
OR Cp
Two tangents TP and TQ are drawn to a circle with centre O’,/"”/
from an exlernal point T. Prove that | PTQ = 2{OPQ 1‘%\\ O
Q
32. A toy is in the form a cone of radius 3.5cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5cm. Find the total surface area of the Toy.
OR '
A 20 meter deep well with diameter 7 meter is dug and the carth from digging is
evenly spread out to form a platform 22n1 x 14, Find the height of the platform.
KSSSHMS & CPUCPA-2, Mathematics - 2019 : . 3

Use E-Papers, Save Trees
Above Line Hide When print out


www.inyatrust.com
www.inyatrust.com
www.InyaTrust.com

www.inyatrust.com

33,

35.

INo. of students] 0 3 5 9 E [4 78 332 .35

During the medical check up of 35 students of aclass, their weights were recorded
as follows,

Weight <38 <d0] <42 [<d4 | <d6 | <48 | <50 | <52

Draw a *Less than type” ogive Tor the given data, Hence obtain the median weight
from e graph.,

Draw o triangle ABC with side l%("?6C1n AB=5c¢m and FABC=060Y . Then

~eonstiuct a triangle whose sides are % of the corresponding sides of the triangle

ABC.

It the roots of tiie Quadratic equation (a—b) v + (b—c)x + (c~a) = Q are cqua[ then

- prove that 2a=h+c.

36,

V.

37,

38.

40,

OR

e | I L _ .

Solve for .y (atbin) — 7 Sl - {u =0, b0, x =0, v= -(a+h)}

Prove that Sin 0 + tan = cotd + secB.cosecd

1—cos 0 L +cos O
OR |
" Prove (hat Los 700 + cos 539 . cosec 350 -9
ol . - - ~ . —
: Sin 209 tan 52 tan 25° . tan 65 tan 859

4x4=16
In the right angled triangle, the square of the h)polenuxt 18 cqua[ to the sum of the
square of the other two sides. PROVE.
Solve the equations graphically. 2x+3y = 12
x=y=1

- Hetght 1.5 meter hoy is standing at some distance from i 30 meter 1l building. The

angle ol elevation from his eyes 1o the top of the building inereascs from 30° to 600
as he waiks towards the building. Find the distance he walked towards the building.

‘The sum of tirst 8 term of an AP is 100 and sum of first 19 terms 18 551, Find AP
OR

~The third term of an AP, ts 8 and the Ninth term of an AP exceeds three times the

third term by 2. Find the sum of its first 19 terms.

1
Hfainkak
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